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CANONICAL STRATEGY

1) elbl c)
*

→ NFA Thompson 's aeputm

2) NFA → DFA fubset construction algorithm
3) DFA → minimal DFA Partition Refinement AG .

To solve this particular fieblen we an skip 11 and 2) eesicy
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This petition cannot be refined se

this automaton is also minimal for the lounge .



Ex
: Given Zz , zz regexps ,

are they quviuit ?

4=22 off LC ez ) =L ( e.)

strategy :

1) Trip NFAZ 2) NFAS → DFAZ

22 → NFAZ NFAZ → ppaz
isomorphic

3) DFAZ → D Fannin

Dfar → Dpaz .mn

D ' F ( DFA '
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)
then return YES

else Zetmn We
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Automaton in which find States and
b

men - find ones are exchanged .

It accepts
the complement language.



L = { see { a ,bl* I × =/ yabbz for
any ypeta ,b5* }

→ 87%89yo

Tabs
@

Ob
ought "

State o

"

beginning
" %{ a ,b }

State s
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state q
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Theorem : IF L is a regular engage then LI ENG

is a regular Cauguge .

Proof : e) L is uguen then thereis a aefucn expression

EL such that [ ( EL ) =L

4 the language denoted by 2g .

2) eg
→

NFAL 3) NFAL → DFAL

4) if Dfay is Backing ,

then add He deed state

A DFA 'y is DFAL st
.

the find and non - find
States are exchanged

6) Thus
,

DFA
'

I occeps L
"

7) By Keeene theorem
,

since there is a DFA accepting

Llthulcisreauunkeeene
Theorem L is regular

it
Fzeeexp e st . LG ) =L

iff FNFA accepting [

iff FDFA  accepting L



Lz Ufula ? Lzn Lu is regular
?

Lz Heeler
yes

In Lex
^

operator

if 2 is azqexp
to

z is eugesp
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Proof : Le → re icgexp
because Lead
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L →
zuufup

regular
Then ^

@|red is a wgucn expression

denoting @iuLi )
'

= Fun Lv .

Thus
, Lin Lie is regular D



Another way :
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La ={ ambm In > a,
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This automata accepts { abl = In L


